exercises, there is one extra answer. Write the letter of this answer in

Why Didn’t the Butterfly
Go to the Dance?

Write each answer, then mark it in the answer column. For each set of

the corresponding box at the bottom of the page.

Answers:

5+2 Answers: 9+4
1 74-3 (V4 (©)-3 8 347 ()9 (W4
~4+-6 (A)-8 (K)-10 6+ 15 (D12 (Uys.
148 | 7 +1 o
2 6412 ®7 (©13 9 -5+ -12 e (-1 |
2+9 -7 Q)-8 9 +-20 P -6 (E)17|
~7+6 ~4+-3
3. 54+-8 @ -1 (N)-3 10 443 ©-7 (R
12413 (Y)25 (H) 18 4+-3 (D7 -1
-10 +-10 -8+ 18
4 17 + -1 (@16 (1)-8 11 6+-19 (N) 10 -16
1145 (R)-20 (B)-6 13+5 (F) s (s)-13
4+-9 11+-2
5 -7 +-15 A 14 (0)9 12 -7 +-4 L1z (E)9
-3+12 (P)22.(c)-5 | -15+8 (©)-7 -11
16+8 ' -6+ 12
6 -5+ 20 Me (T1)15 13 99 +-99 P -2 (G)s6
-6 +6 (s)-4 (W)o 3+-5 - (®o (B)
1344 | 44l 20+-30- B
7' S Te2 B @)-17 14 70+ -40 (¥) -50 (M) 50
14 +-16 (E)-2 (0)10 ~70 + 40 (N)so (T)-30
'8' 4}11 6'.’9 14 7}10153 13 | 5 2 | 12
| - | |
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TOPIC 5-f: Subtracting integers

E-61
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